## Award Worksheet

Purchasing Entity:	Shelby County Schools			Run Date:	11/1/18 9:23 am
Bid ID:	2567	Awarded:			
Description:	Nutrition Services	Bids Due By:	10/26/2018 11:00 AM		
Category:	Shirts for Nutrition Services - GJ	Bids Sealed Until:	10/26/2018 11:00 AM		
Effective Start Date:					

Effective End Date:

Vendor Summary Information										
Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary							
4imprint	25 business days after art is approved by customer, PO is received and stock is confirmed. If a pre-production proof is needed, an additional 7 business days is required.	Net 30	14,927.7500							
CHAMPION AWARDS, INC.			15,731.2500							
The UPS Store, LLC		Net 15	16,312.5000							

Line Lot Number Code	Item Description	Purchase Unit	Vendor		Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
No lotted items found fo 1	or the selected criteria. T-Shirt (Small) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Gildan	CHAMPION AWARDS, INC.	3.2500	50	162.50			
	Quoted as Spec'd: Yes		Product Number: 5000						
	Item Notes: 1) The sizing of the shirts.	logos is estimated and may	y need to be changed based on th	e company's capabil	lities and the	e size of			
	2) The quantity for each item is a right to increase or decrease the	-	erves the						
	3) See attached bid specification	าร.							
	T-Shirt (Small) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Delta - 11730	4imprint	4.7800	50	239.00			
	Quoted as Spec'd: Yes		Product Number: 107249-S						
	T-Shirt (Small) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Gildan	The UPS Store, LLC	5.5000	50	275.00			
	Quoted as Spec'd: Yes		Product Number: 2000						
2	T-Shirt (Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Gildan	CHAMPION AWARDS, INC.	3.2500	450	1,462.50			
	Quoted as Spec'd: Yes		Product Number: 5000						
	Item Notes: 1) The sizing of the shirts.	logos is estimated and may	y need to be changed based on th	e company's capabil	lities and the	e size of			
	2) The quantity for each item is a right to increase or decrease the	•	erves the						
	3) See attached bid specification	าร.							
	T-Shirt (Large) - 100% Cotton - See Notes <b>Manufacturer &amp; Part Number:</b>	1 - Count 4.78 - 11730	4imprint	4.7800	450	2,151.00			
	Quoted as Spec'd: Yes		Product Number: 107249-S						

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	T-Shirt (Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Gildan	The UPS Store, LLC	5.5000	450	2,475.00			
	Quoted as Spec'd: Yes		Product Number: 2000						
3	T-Shirt (X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count GILDAN	CHAMPION AWARDS, INC.	3.2500	850	2,762.50			
	Quoted as Spec'd: Yes		Product Number: 5000						
	Item Notes: 1) The sizing of the shirts.	logos is estimated and may	/ need to be changed based on th	e company's cap	abilities and the	e size of			
	2) The quantity for each item is a right to increase or decrease the	-	rves the						
	3) See attached bid specification	IS							
	T-Shirt (X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Delta - 11730	4imprint	4.7800	850	4,063.00			
	Quoted as Spec'd: Yes		Product Number: 107249-S						
	T-Shirt (X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Gildan	The UPS Store, LLC	5.5000	850	4,675.00			
	Quoted as Spec'd: Yes		Product Number: 2000						
	Response Item Payment Terms	: Net 15							
4	T-Shirt (2X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Gildan	CHAMPION AWARDS, INC.	4.2500	850	3,612.50			
	Quoted as Spec'd: Yes		Product Number: 5000						
	Item Notes: 1) The sizing of the shirts.	logos is estimated and may	/ need to be changed based on th	e company's cap	abilities and the	e size of			
	2) The quantity for each item is a right to increase or decrease the		rves the						
	3) See attached bid specification	IS.							

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Pending Total Award
	T-Shirt (2X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Delta - 11730	4imprint	4.7800	850	4,063.00		
	Quoted as Spec'd: Yes	2014 TTO	Product Number: 107249-S					
5	T-Shirt (3X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Delta - 11730	4imprint	4.7800	50	239.00		
	Quoted as Spec'd: Yes		Product Number: 107249-S					
	Item Notes: 1) The sizing of the shirts.	logos is estimated and may	y need to be changed based on th	e company's cap	abilities and the	e size of		
	<ol> <li>The quantity for each item is a right to increase or decrease the</li> </ol>	-	rves the					
	3) See attached bid specification	IS.						
	T-Shirt (3X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count GILDAN	CHAMPION AWARDS, INC.	5.2500	50	262.50		
	Quoted as Spec'd: Yes		Product Number: 5000					
	T-Shirt (3X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Gildan	The UPS Store, LLC	7.5000	50	375.00		
	Quoted as Spec'd: Yes		Product Number: 2000					
	Response Item Payment Terms	: Net 15						
6	T-Shirt (4X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Delta - 11730	4imprint	4.7800	50	239.00		
	Quoted as Spec'd: Yes		Product Number: 107249-S					
	Item Notes: 1) The sizing of the shirts.	logos is estimated and may	y need to be changed based on th	e company's cap	abilities and the	e size of		
	<ol> <li>The quantity for each item is a right to increase or decrease the</li> </ol>		rves the					
	3) See attached bid specification	IS.						

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	T-Shirt (4X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count GILDAN	CHAMPION AWARDS, INC.	6.2500	50	312.50			
	Quoted as Spec'd: Yes		Product Number: 5000						
	T-Shirt (4X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Gildan	The UPS Store, LLC	9.5000	50	475.00			
	Quoted as Spec'd: Yes		Product Number: 2000						
	Response Item Payment Terms	: Net 15							
7	T-Shirt (5X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Delta - 11730	4imprint	4.7800	25	119.50			
	Quoted as Spec'd: Yes		Product Number: 107249-S						
	Item Notes: 1) The sizing of the shirts.	logos is estimated and mag	y need to be changed based on th	e company's capa	abilities and the	e size of			
	2) The quantity for each item is a right to increase or decrease the	-	rves the						
	3) See attached bid specification	ns.							
	T-Shirt (5X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count GILDAN	CHAMPION AWARDS, INC.	6.2500	25	156.25			
	Quoted as Spec'd: Yes		Product Number: 5000						
	T-Shirt (5X Large) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count Gildan	The UPS Store, LLC	9.5000	25	237.50			
	Quoted as Spec'd: Yes		Product Number: 2000						
	Response Item Payment Terms	: Net 15							
8	Polo Shirt (Small) See Notes Manufacturer & Part Number:	1 - Count Alphabroder - G880	4imprint	7.8500	10	78.50			

Line Lot Number Code	Item Description Purchase U Quoted as Spec'd: Yes	nit Vendor Product Number: 105469	Respo Bid Price Quan		Pending Pending Award Award Pending Quantity Total Award
	<b>Item Notes:</b> 1) The quantity for each item is an estin right to increase or decrease the quantity indicated.	nate only. SCS reserves the			
	2) A blend 5 ounce , 65 poly / 35 cotton pique.				
	3) See attached bid specifications.				
	Polo Shirt (Small) See 1 - Count Notes Manufacturer & Part Number: PORT AUTHC	CHAMPION AWARDS, INC. DRITY	15.0000	10 150.00	
	Quoted as Spec'd: Yes	Product Number: K500			
	Polo Shirt (Small) See 1 - Count Notes	The UPS Store, LLC	16.0000	10 160.00	
	Manufacturer & Part Number: Port Authority				
	Quoted as Spec'd: Yes	Product Number: K100			
	Response Item Payment Terms: net 15				
9	Polo Shirt (Large) See 1 - Count Notes Manufacturer & Part Number: Alphabroder -	4imprint G880	7.8500	100 785.00	
	Quoted as Spec'd: Yes	Product Number: 105469			
	Item Notes: 1) The quantity for each item is an estin right to increase or decrease the quantity indicated.	nate only. SCS reserves the			
	2) A blend 5 ounce , 65 poly / 35 cotton pique.				
	3) See attached bid specifications				
	Polo Shirt (Large) See 1 - Count Notes Manufacturer & Part Number: PORT AUTHC	CHAMPION AWARDS, INC. DRITY	15.0000	100 1,500.00	
	Quoted as Spec'd: Yes	Product Number: K500			
	Polo Shirt (Large) See 1 - Count Notes Manufacturer & Part Number: Port Authority	The UPS Store, LLC	16.0000	100 1,600.00	
	Quoted as Spec'd: Yes	Product Number: K100			

Line Lot Number Code	Item DescriptionPurchase UnitResponse Item Payment Terms: Net 15	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
10	Polo Shirt (X Large) See 1 - Count Notes	4imprint	7.8500	100	785.00			
	Manufacturer & Part Number:Alphabroder - G880Quoted as Spec'd:Yes	Product Number: 105469						
	Item Notes: 1) The quantity for each item is an estimate or							
	right to increase or decrease the quantity indicated.	lly. 303 reserves the						
	2) A blend 5 ounce , 65 poly / 35 cotton pique.							
	3) See attached bid specifications.							
	Polo Shirt (X Large) See 1 - Count Notes	CHAMPION AWARDS, INC.	15.0000	100	1,500.00			
	Manufacturer & Part Number: PORT AUTHORITY	Bre duct Numbers KEOO						
	Quoted as Spec'd: Yes	Product Number: K500						
	Polo Shirt (X Large) See 1 - Count Notes Manufacturer & Part Number: Port Authority	The UPS Store, LLC	16.0000	100	1,600.00			
	Quoted as Spec'd: Yes	Product Number: K100						
	Response Item Payment Terms: Net 15							
11	Polo Shirt (2X Large) See1 - CountNotesAlphabroder - G880	4imprint	7.8500	100	785.00			
	Quoted as Spec'd: Yes	Product Number: 105469						
	Item Notes: 1) The quantity for each item is an estimate or right to increase or decrease the quantity indicated.	nly. SCS reserves the						
	2) A blend 5 ounce , 65 poly / 35 cotton pique.							
	3) See attached bid specifications.							
	Polo Shirt (2X Large) See 1 - Count Notes Manufacturer & Part Number: PORT AUTHORITY	CHAMPION AWARDS, INC.	16.0000	100	1,600.00			
	Quoted as Spec'd: Yes	Product Number: K500						

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Polo Shirt (2X Large) See Notes Manufacturer & Part Number:	1 - Count Port Authority	The UPS Store, LLC	18.0000	100	1,800.00			
	Quoted as Spec'd: Yes	T on Autionty	Product Number: K100						
	Response Item Payment Terms	: Net 15	riouuci number. 1000						
	·····								
12	Polo Shirt (3X Large) See Notes Manufacturer & Part Number:	1 - Count Alphabroder - G880	4imprint	7.8500	25	196.25			
	Quoted as Spec'd: Yes		Product Number: 105469						
	Item Notes: 1) The quantity for e right to increase or decrease the		ly. SCS reserves the						
	2) A blend 5 ounce , 65 poly / 35	o cotton pique.							
	3) See attached bid specification	IS.							
	Polo Shirt (3X Large) See Notes Manufacturer & Part Number:	1 - Count PORT AUTHORITY	CHAMPION AWARDS, INC.	17.0000	25	425.00			
	Quoted as Spec'd: Yes		Product Number: K500						
	Polo Shirt (3X Large) See Notes Manufacturer & Part Number:	1 - Count Port Authority	The UPS Store, LLC	18.0000	25	450.00			
	Quoted as Spec'd: Yes		Product Number: K100						
	Response Item Payment Terms	: Net 15							
13	Polo Shirt (4X Large) See Notes Manufacturer & Part Number:	1 - Count Alphabroder - G880	4imprint	7.8500	25	196.25			
	Quoted as Spec'd: Yes		Product Number: 105469						
	Item Notes: 1) The quantity for each of the right to increase or decrease the		ly. SCS reserves the						
	2) A blend 5 ounce , 65 poly / 35	cotton pique.							
	3) See attached bid specification	IS.							
	· ·								

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Polo Shirt (4X Large) See Notes Manufacturer & Part Number:	1 - Count PORT AUTHORITY	CHAMPION AWARDS, INC.	18.0000	25	450.00			
	Quoted as Spec'd: Yes		Product Number: K500						
	Polo Shirt (4X Large) See Notes Manufacturer & Part Number:	1 - Count Port Authority	The UPS Store, LLC	20.0000	25	500.00			
	Quoted as Spec'd: Yes	i on rounding	Product Number: K100						
	Response Item Payment Terms:	Net 15							
14	Polo Shirt (5X Large) See Notes Manufacturer & Part Number:	1 - Count Alphabroder - G880	4imprint	7.8500	25	196.25			
	Quoted as Spec'd: Yes		Product Number: 105469						
	Item Notes: 1) The quantity for earlight to increase or decrease the		ly. SCS reserves the						
	<ul><li>2) A blend 5 ounce , 65 poly / 35</li><li>3) See attached bid specification:</li></ul>								
	Polo Shirt (5X Large) See Notes Manufacturer & Part Number:	1 - Count PORT AUTHORITY	CHAMPION AWARDS, INC.	18.0000	25	450.00			
	Quoted as Spec'd: Yes		Product Number: K500						
	Polo Shirt (5X Large) See Notes Manufacturer & Part Number:	1 - Count Port Authority	The UPS Store, LLC	20.0000	25	500.00			
	Quoted as Spec'd: Yes	,	Product Number: K100						
	Response Item Payment Terms:	Net 15							
15	T-Shirt (Medium) - 100% Cotton - See Notes Manufacturer & Part Number:	1 - Count GILDAN	CHAMPION AWARDS, INC.	3.2500	100	325.00			
	Quoted as Spec'd: Yes		Product Number: 5000						

Line Lot Number Code	Item DescriptionPurchase UnitItem Notes: 1) The sizing of the logos is estimated and ma shirts.2) The quantity for each item is an estimate only. SCS reserright to increase or decrease the quantity indicated.		Bid Price	-		Pending Award Quantity	Pending Award Total	Pending Award
	3) See attached bid specifications.							
	T-Shirt (Medium) - 100% 1 - Count Cotton - See Notes Manufacturer & Part Number: Delta - 11730	4imprint	4.7800	100	478.00			
	Quoted as Spec'd: Yes	Product Number: 107249-S						
	T-Shirt (Medium) - 100% 1 - Count Cotton - See Notes Manufacturer & Part Number: Gildan	The UPS Store, LLC	5.5000	100	550.00			
	Quoted as Spec'd: Yes	Product Number: 2000						
	Response Item Payment Terms: Net 15							
16	Polo Shirt (Medium) See 1 - Count Notes Manufacturer & Part Number: Alphabroder - G880	4imprint	7.8500	40	314.00			
	Quoted as Spec'd: Yes	Product Number: 105469						
	Item Notes: 1) The quantity for each item is an estimate on right to increase or decrease the quantity indicated.	ly. SCS reserves the						
	2) A blend 5 ounce , 65 poly / 35 cotton pique.							
	3) See attached bid specifications.							
	Polo Shirt (Medium) See 1 - Count Notes Manufacturer & Part Number: PORT AUTHORITY	CHAMPION AWARDS, INC.	15.0000	40	600.00			
	Quoted as Spec'd: Yes	Product Number: K500						
	Polo Shirt (Medium) See 1 - Count Notes Manufacturer & Part Number: Port Authority	The UPS Store, LLC	16.0000	40	640.00			
	Quoted as Spec'd: Yes	Product Number: K100						
	Response Item Payment Terms: Net 15							

								Pending	Pending	
Line	Lot					Response		Award	Award	Pending
Number	Code	Item Description	Purchase Unit	Vendor	Bid Price	Quantity	Total Price	Quantity	Total	Award